v #HATZR H

65 4 ol
2 | smobym |
A4 Hil
(3)
BR TN TELHAE. K2 L TEHRLEL X I,
2 3 2 x4 2 4 5x7
- = 9 = 1= + — =
@ 3 4 3x11 ® 3 7 3x4
8 35 11
- 2 = — (2—
3 12( 12)
2 7% 3 1 4 1 3x9]
7T = 2= = 29— = = =
@ 3 1x8 @ 23 9 [6]x 4
21 13x3
= — 2— f—
8 ( ) 2X4
39 7
= — (4-)

7 4 7 %/5] 8 8

® — 1= = ——

10 5 109 4 7 14/x10
7x1 10 37
2x9 _2x10
7 3x1

18 20 ,.2
= — (6-)
® 5 (5 5 6] o 33 4 [24]x5

12 6 1 2x11 7 5 7 x[4]

_ bx1 _ 6x5
2x11 7x1
5 30 2
= —_—— — —_—— 4_
5 . ( 7)
7 5 2 5x
2— + = = a

9 1 9 x[5] 9 6 [o]x 5

® — + 4—- =

10 10[x2 1 5% 2
B 3Ix1 3x1

2x7 10 1

= — (37)

o 3 9 9
14




